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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) ulienef wawem 30 T9T U= W AmiE fara: o)

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) wt ueR o e g
All the questions are compulsory.
3) Uceh A i IR & TE ST-Yfwren # @ ford)

Write the answer to each question in the given answer-book only.
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4) R uvEl ° oaies e §, 39 a9 % W U w1y § o)

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) U U & B 9 SRSt SR | fRet TR i e/ s/ fohienu ™ g1 W @ W & uee
EalciRerik:cl

If there is any error/ difference/ contradiction in Hindi & English version of the
question paper, the question of Hindi version should be treated valid.

6) WY T IW foT@ ¥ Yd U 1 HATH v ford |

Write down the serial number of the question before attempting it.
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Qus - A

SECTION - A

1) o agioemedt wom 1 (1 & ix) & SW & |Et ooy oam 9 W gieem # feaRam) [9x1=9]

Write the correct answer from multiple choice question 1 (i to ix) and write in given
answer book.

) Fedase- R e T 2 [1]
#) DATE () a) TRIM ()
@) LENGTH () ) VCASE ()

Which of the following is not a string function?

A) DATE () B) TRIM ()
C) LENGTH () D) VCASE ()
ii) POWER (4, 2) St 313eye o= grm ? [1]
) 8 | 2
w) 16 3 6
What will be the output of POWER (4, 2)?
A) 8 B) 2
C) 16 D) 6
i) NumPyemaed................. 2l [1]
HA) A UL q) AR U=
q)  Juieret qEeR g) AU UEeR
NumPy stands for
A) Next Python B) Number Python
C) Numerical Python D) Name Python
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iv) # | feret i (Value) ® 92 gu st @@ (Data Level) @i ... wed 2l[1]
A) =W q) TEwE
") 7) oW

Data level associated with a particular value in series is called as

A) Index B) Data Frames
C) Row D) Column
V) SeRd @ AfteRan A R T w6 e o SuEm fRr S 2l [1]
H) DataFrame.min () ) DataFrame.sum ()
®) DataFrame.max () g) DataFrame.count ()

1s used to calculate the maximum values from DataFrame.

A) DataFrame.min () B) DataFrame.sum ()
C) DataFrame.max () D) DataFrame.count ()
vi) Matplotlib % Pyplot UTes[et sl HIA—1 FerH {2 s o o Aman 82 [1]
) xlabel () ) ylabel ()
") title () 3) plot()
Which function of Pyplot module in Matplotlib is used to create a figure?
A) xlabel () B) ylabel ()
C) title() D) plot()
151) BTN T TR I 2, o ga i faftw wEt @ fowfsa ensmn gl [1]
HA) ERER q) Thel TR
|) g e 3) ST | @ I T
is a type of graph in which circle is divided into different sections.
A) Bar chart B) Scatter chart
C) Piechart D) None of these
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viii) B 8 @ - ek Tuem 3 (1]
HA) wHERHE q) Hi=E
|) 3) 3AHE HE
Which of the following is not a network device?
A) Mouse B) Modem
C) Hub D) Ethernet Card
ix) = a se-a gere iemm §e [1]
1) Afoeman 7) frda
w) R 7) Swe @l
Which of the following is Internet Etiquettes?
A) Ethical B) Respectful
C) Responsible D) All of these
e o it gt <t ; [4x1=4]
Fill in the blanks :
i) IPR®IQUAM............... g 2l [1]
Full form of IPR is
i) e e, T foren Y adue faeht ua wu s 2| [1]
function returns the current computer system date and time.
i) E-mail ®iguam................. 2 [1]
Full form of E-mailis
iv) @t arfereriedt it waiHa uthal st Sied & foe L ATRIE T U= TR
AT 1 [1]

operation is used to combine the selected rows of two tables.
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T STt o SR T divs @ it (1) ® (vidi)] -

Give the answer of the following questions in one line [(1) to (viii)] -

i)

1v)

Vi)

vi)

Viii)

TR ShIZH Tl TR hifu)

Define cyber crime.

faTet T werg <k g 2 SR ferfn

Write any two examples of single row function.
ROUND () WereH o1 BiT 82

What is ROUND () function?

TTeTHA 1 URHTYA FhifsTu)

Define DataFrame.

LAN o= gt 27

What is LAN?

Pandas ® fe=gi +ft 91 g1e1 Tarer & M fefam)
Write name of any two data structures in Pandas.
YEAR (date) e st It SUZNT gt 82

What is the use of function YEAR (date)?

"COMPUTER" f&7 & 31eri &t morn & & fere SQL w=dt fefam)

[8x1=8]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

Write SQL query to count number of characters in string "COMPUTER".
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wue - d

SECTION - B

TS T — (I8 HHT 1T 50 97s3) [12x1.5=18]

Short answer type questions - (word limit approx. 50 words)

4)

)

6)

7)

8)

HIEA TS Tgeh hi URHTTNA it [1.5]
Define Mean and Mode.
Matplotlib @it st oI IEET Bie 82 [1.5]

What is the purpose of Matplotlib Library?

FrafeRea SQL w=dt st eteeye faiRaul SELECT LEFT ("Technology", 6);  [1.5]

Write the output of following SQL query SELECT LEFT ("Technology", 6);

DataFrame.sum () %eH i U=t feifam| [1.5]

Write the use of DataFrame.sum () function.

Pandas fagetengsive (Visualisation) st ufeiiea <hifsTe| [1.5]

Define Pandas Visualisation.
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9) gewe & WIE diF SN (applications) feRam)

Write any three applications of Internet.

10) 2w =t uitsiia i)

Define Hacking.

11) SQL & feredi oft &t witie wae o s 4 feafam)

Write about any two Aggregate functions in SQL.

12) wurE @1ea | Pandas @ $eia (Install) A & i foRan)

Write the command to install Pandas from command line.

13) mierem frd we §7

What is Median?

14) TSR FN AT E?

What is Router?

15) 2zurh @i uRefya hifTo)

Define Trademark.
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Que - |
SECTION - C

2rd I e /FAeErenares uvA - (9Tee ' e 100 9e)

Long answer questions (word limit approx. 100 words)

16) «Ea = = auiA Fifu|

Explain Line Chart.

17) Group By clause @1 3ergwut |fga auia i)

Explain Group By clause with example.

18) fmafafaa aifatem & frw SQL wwie ferRem -
i) SO AW A AR 4 qu & forg
i) (4)° = aeege TR & forg
Write the SQL commands for following operations -
1)  To display country name is capital letters.

i) To display the output of (4)°.
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©ue - §

SECTION - D

<rd Suda uva /FRaus g - (s dimn e 250 I1eg)

Long answer type questions (word limit approx. 250 words)

19)
Table : Customer
Cust ID Name Address Phone Number
C001 Sushil Ajmer 12345
C002 Sanjay Kota 23456
C003 Rehnuma Jaipur 34567
C004 David Kota 45678
C005 Manjeet Ajmer 56789
C006 Mayank Kota 67890
S 2o A i queries fRau)

Write the following queries from above table.
) W T S

Create table customer.
i) R 2o | Uk 74 Fiew 'E-mail' Sifgu)

Add a new column 'E-mail' to the customer table.

i) 37 FEeHE T AW YERia e e ugd wier 2l

Display customer names, whose address is 'Kota'.

Ferar/OR
FrafeRaa = vt Fifse -
i) @ aforeRtatt Sl ST U
i) o afeTeRteTt w1 SaTgA
Explain following -
1)  Cartesian product on two tables

i) Join on two tables
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20) Frfeitaa sret @i e, Afeert T8 ageieh ol TUMAT it —

[12, 10, 18, 10, 25, 10, 30,18, 9]
Calculate Mean, Mode and Median of given data -
[12, 10, 18, 10, 25, 10, 30,18, 9]

E/OR

Table : Product

Item Company Amount

Mobile Nokia 9,000

TV LG 15,000

Fan BAJAJ 1,200

Laptop DELL 60,000
Frfeiiaa & fore uraem wie e -

Write Python code for following -
) T e % o S EE

To create DataFrame for above table.
i) grew | 'Quantity' ATH T HicH (LYY

To add new column 'Quantity’ in DataFrame.

VOO
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